GROUPD

TO AR

GROUND BAR

SEE VIEW "A"

23(NOTE 2)

Revision : -A-

Exploded View : EV ENGCOMPRT 9.0L G26 100KW CPL

Drawing No. : A0001403191

Page 1 of 2

Date : 2/18/21



EXPLODED VIEW: EV ENGCOMPRT 9.0L G26 100KW CPL

DRAWING #: A0001403191

APPLICABLE TO:

GROUP D

ITEM PARTH# QTY. DESCRIPTION

1 (049808 6 WASHER FLAT M12
2 G024310 1 PLUG STD PIPE 1/2 STEEL SQ HD
3 G057642 12 SCREW HHC M10-1.5 X 40 C8.8
4 0J8653 1 VALVE, PCV GN80L/GN9OL
5 G047290 1 HOSE PCV (15'LG)
6 (G049340 1 ADPTR BARB 90D 3/8 X 1/4NPT
7 0L0858 2 VALVE BALL 3/8 NPT M/F
8 G051769 6 WASHER LOCK M12
9 (055420 6 SCREW HHC M12-1.75 X 25 C10.9
10 0E4390 REF GASKET GOVERNOR ACTUATOR
1 (G026925 2 PLUG STD PIPE 3/8 STEEL SQ HD
12 0H7435 1 HARN LOW OIL PRESS SWITCH ASSY
13 G035579 1 BSHG RDCR HEX 1/4 TO 1/8
14 0K2179 1 FERRITE EMI CABLE CORE ASSY
15 G057823 2 CLAMP HOSE #10 .56-1.06
16 G050967 1 HOSE COOL 5/8 ID
17 0L4708 1 BARB, REDUCER 3/4 X 5/8
18 0H72370ST03 2 ENGINE FOOT, 9.0L G18

(2)19 (G036833 6 SCREW HHC 3/8-16 X 1 G8
20 G022237 6 WASHER LOCK 3/8
21 G022131 18 WASHER FLAT 3/8-M10 ZINC
22 0A8240 3 FLEX PLATE SAE10

(2)23 0J4574 8 SCREW SHC M10-1.5 X 25 C8.8
24 (G046526 20 WASHER LOCK M10
25 G070264 8 WASHER FLAT M10
26 (G022333 1 SCREW HHC 7/16-14 X 1 G5
27 (022302 1 WASHER LOCK 7/16
28 G022250 3 WASHER FLAT 7/16 ZP
29 0D2244M 1 ASSY MAGPICKUP(3/8-24 MALE)
30 G043116 1 SCREW HHC M6-1.0 X 12 G8.8
31 G022097 1 WASHER LOCK Mé-1/4
32 (G022473 1 WASHER FLAT 1/4-M6 ZINC
33 10000010781 1 WATER PUMP INLET EXTENSION ASSEMBLY 9.0L
34 (G035685 2 CLAMP HOSE #28 1.32-2.25
35 10000010965 1 HOSE-WATER PUMP INLET
36 G025507 1 WASHER LOCK EXT 7/16 STL
37 0577958 1 BARBED EL 90 5/8 PLASTIC
38 0G5954 REF GROMMET .625 X 1.25 X .433
39 A0001443376 1 HARN COMPLETE G9.0L G26 N/A W/EVO CTRL (NOT SHOWN)
40 069860E 1 ASSY HOSE OIL DRAIN 28 INCH
4 G043790 1 BARBED EL 90 3/8 NPT X 3/8
42 G062303 2 ADAPTOR 1/4 NPT TO 3/8 NPT

NOTES (UNLESS OTHERWISE SPECIFIED):
(1) ALL STANDARD HARDWARE TO BE TORQUE PER EDS001.

(2) TORQUE VALUES:
IIN2-31FT-LBS
IIN 23 - 28FT-LBS (WITH LOCTITE 242)
I/N 19 - 34FT-LBS (WITH LOCTITE 242)

REVISION: -A-
DATE: 5/11/21

Page 2 of 2



